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ÍÛæ̃ Û¶ÛÛ : (1) ÍÛÛþùÛ ïéõÅÛîýÛäÅÛé¤øÁõ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛÉÛé.  

   (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé.  
 

1. ¶ÛÛêµÛ ÅÛ”ÛÛé : ½ÛÛÁõ©Û¶Ûà ÈÛÍ©Ûà •Û¨Û©ÛÁõà. 14 

                     …¬ÛÈÛÛ 

 ÈÛÍ©Ûà ÜÈÛÌÛýÛïõ …Û×ïõ¦øÛ¶Ûà ”ÛÛ¾Ûà…Ûé …¶Ûé Š¸ÛýÛÛéÜ•Û©ÛÛ ›÷̈ ÛÛÈÛÛé.  

 

2. (a) ÍÛ¾Û›ÛÈÛÛé ƒ ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶ÛþùÁõ, ïäõÅÛ ¸Ûó›÷¶Û¶ÛþùÁõ …¶Ûé Ü¶ÛýÛ©Û ‹¾ÛÁõ¶ÛÛ •ÛÛÇÛ¶ÛÛé ¸Ûó›÷¶Û¶ÛþùÁõ. 6 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà Š¸ÛÁõ¬Ûà ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶ÛþùÁõ,  Ü¶ÛýÛ©Û ‹¾ÛÁõ•ÛÛÇÛ ¾ÛÛ¤éø¶ÛÛé ¸Ûó›÷¶Û¶ÛþùÁõ …¶Ûé ïäõÅÛ 

¸Ûó›÷¶Û¶ÛþùÁõ ÉÛÛéµÛÛé : 8 

‹¾ÛÁõ (ÈÛÌÛÙ¾ÛÛ×)  ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ 

(Ðü›ÛÁõ¾ÛÛ×)  

œ÷ÈÛ©ÛÛ× ›÷¶¾ÛéÅÛÛ× 

¼ÛÛÇïõÛé¶Ûà ÍÛ×”ýÛÛ  

16 – 20 12 200 

21 – 25 16 1800 

26 – 30 15 2200 

31 – 35 11 1400 

41 – 45 10 900 

46 – 50 5 25 

                                                …¬ÛÈÛÛ 
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 (a) ÈýÛÛ”ýÛÛ …Û¸ÛÛé ƒ ÍÛÛþùÛé ¾Ûè©ýÛäþùÁõ, ¸Ûó¾ÛÛÜ¨Û©Û ¾Ûè©ýÛäþùÁõ …¶Ûé ¼ÛÛÇ¾Ûè©ýÛäþùÁ. 6 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÛ¤éø ÉÛÐéüÁõ B ¶Ûé ¸Ûó¾ÛÛÜ¨Û©Û •Û¨Ûà, ¼Ûé ÉÛÐéüÁõÛé¶ÛÛ …ÛÁõÛé•ýÛ¶Ûà ÍÛÁõ”ÛÛ¾Û¨Ûà ïõÁõÛé : 8  

‹¾ÛÁõ (ÈÛÌÛÙ¾ÛÛ×) 
ÉÛÐéüÁõ – A ÉÛÐéüÁõ – B 

ÈÛÍ©Ûà ¾Ûè©ýÛä ÈÛÍ©Ûà ¾Ûè©ýÛä 

0 – 10 800 24 600 18 

10 – 30 2000 9 1000 5 

30 – 50 6000 60 3000 24 

50 ¬Ûà ÈÛµÛä 1200 48 400 20 

 

3. (a) ÈÛÅÛ¨Û …é¤øÅÛé ÉÛä× ? ÈÛÅÛ¨Û ¾ÛÛ¸ÛÈÛÛ¶Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 6 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ªÛ¨Û ÈÛÌÛÙ¶Ûà ˜ÛÜÅÛ©Û ÍÛÁéõÁõÛÉÛ¶Ûà ¾Ûþùþù¬Ûà ÈÛÅÛ¨Û ÉÛÛéµÛÛé …¶Ûé …ÛÅÛé”Û¸ÛªÛ 

¸ÛÁõ þùÉÛÛÙÈÛÛé : 8 

ÈÛÌÛÙ  ½ÛÛÈÛ (`̀̀̀ ¾ÛÛ×) 

1991 20 

1992 25 

1993 28 

1994 22 

1995 30 

1996 35 

1997 25 

1998 33 

1999 36 

2000 32 

                            …¬ÛÈÛÛ 
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 (a) ÍÛÛ¾ÛÛÜýÛïõ ËÛé̈ Ûà¶ÛÛé …¬ÛÙ …¶Ûé Š¸ÛýÛÛé•ÛÛé ›÷¨ÛÛÈÛÛé. 6 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾ÛÛéÍÛ¾Ûà ÍÛæ̃ Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 8 

ÈÛÌÛÙ  I II III IV 

2000 70 65 67 72 

2001 75 72 74 78 

2002 80 68 60 60 

2003 85 62 65 68 

 

 

4. (a) ÍÛæ̃ Ûïõ…Û×ïõ …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ Š¸ÛýÛÛé•ÛÛé ÅÛ”ÛÛé. 6 

 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÅÛÛÍ¸ÛéýÛÁõ, ¸ÛÛÉÛé …¶Ûé ÜºõÉÛÁõ¶ÛÛé ÍÛæ̃ Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 8  

ÈÛÍ©Ûä 
…ÛµÛÛÁõ ÈÛÌÛÙ  ˜ÛÛÅÛä ÈÛÌÛÙ  

½ÛÛÈÛ  ›÷¬¬ÛÛé ½ÛÛÈÛ  ›÷¬¬ÛÛé 

A 8 70 14 60 

B 6 120 20 140 

C 10 100 8 40 

D 12 80 15 35 

E 14 50 14 25 

F 9 40 10 28 

                                       …¬ÛÈÛÛ 

 (a) ÍÛæ̃ Ûïõ…Û×ïõ¶Ûà Áõ˜Û¶ÛÛ ¾ÛÛ¤éø ÜÍ¬ÛÁõ …ÛµÛÛÁõ¶Ûà Áõà©Û ÍÛ¾Û›ÛÈÛÛé. 6 

 (b) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÜÍ¬ÛÁõ …ÛµÛÛÁõ¶Ûà Áõà©Ûé ÍÛæ̃ Ûïõ…Û×ïõ ÉÛÛéµÛÛé : 8 

ÈÛÍ©Ûä  ½ÛÛÈÛ (`̀̀̀ ¾ÛÛ×) ÈÛÍ©Ûä  ½ÛÛÈÛ (`̀̀̀ ¾ÛÛ×) 

A 22 F 30 

B 20 G 28 

C 25 H 33 

D 28 I 35 

E 27 J 40 
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5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ÍÛÛ©Û) 14 

 (1) œ÷ÈÛ¶Û Ü¶ÛÈÛÛÙÐü¶ÛÛé ÍÛæ̃ Ûïõ…Û×ïõ …é¤øÅÛé ÉÛä× ? 

 (2) ÍÛæ̃ Ûïõ…Û×ïõ¶Ûé þéùÉÛ¶ÛÛ …¬ÛÙ©Û×ªÛ¶Ûà ¸ÛÛÁõÛÉÛàÉÛà ÉÛÛ ¾ÛÛ¤éø ïõÐéü ™öé ? 

 (3) …Å¸ÛïõÛÅÛà¶Û ÈÛµÛ–Û¤ø …é¤øÅÛé ÉÛä× ? 

 (4) ¾ÛÛéÍÛ¾Ûà ÍÛæ̃ Ûïõ…Û×ïõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

 (5) …éïõ ÉÛÐéüÁõ¾ÛÛ× …éïõ ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û ›÷¶¾ÛéÅÛÛ× ïäõÅÛ 50,000 ¼ÛÛÇïõÛé¾ÛÛ× 1000 ¼ÛÛÇïõÛé 1 ÈÛÌÛÙ¬Ûà 

…Ûé™öà ‹¾ÛÁõ¾ÛÛ× ¾Ûè©ýÛä ¸ÛÛ¾ýÛÛ×, ©ÛÛé ©Ûé ÉÛÐéüÁõ ¾ÛÛ¤éø ¾Ûè©ýÛäþùÁõ ÉÛÛéµÛÛé.  

 (6) ›÷¶¾Û¾ÛÁõ¨Û¶ÛÛ …Û×ïõ¦øÛ¶ÛÛ ¼Ûé Š¸ÛýÛÛé•ÛÛé ÅÛ”ÛÛé.  

 (7) ›Ûé Σp1q0 = 330, Σp0q0 = 250, Σp1q1 = 350 …¶Ûé Σp0q1 = 330 ÐüÛéýÛ ©ÛÛé ÜºõÉÛÁõ¶ÛÛé 

ÍÛæ̃ Ûïõ…Û×ïõ ÉÛÛéµÛÛé.  

 (8) …éïõ ÜÈÛÍ©ÛÛÁõ ¾ÛÛ¤éø ÍÛÛ¾ÛÛ¶ýÛ ¸Ûó›÷¶Û¶Û þùÁõ 40 ™öé. ›Ûé ¸Ûó›÷¶Û¶Û ÈÛýÛ µÛÁõÛÈÛ©Ûà ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ 

80,000 ÐüÛéýÛ, ©ÛÛé ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û œ÷ÜÈÛ©Û ›÷¶¾ÛéÅÛÛ× ¼ÛÛÇïõÛé¶Ûà ÍÛ×”ýÛÛ ÉÛÛéµÛÛé.  

 (9) ›Ûé ÈÛÍ©Ûä ¾ÛÛ¤éø ªÛ¨Û ¾ÛÛéÍÛ¾Û¶Ûà ÍÛÁéõÁõÛÉÛ …¶Ûä’õ¾Ûé 55, 45, 30 ™öé. …Û ¸ÛÁõ¬Ûà ªÛ¨ÛéýÛ ¾ÛÛéÍÛ¾Û¶ÛÛ 

ÍÛæ̃ Ûïõ…Û×ïõ ÉÛÛéµÛÛé.  

_____________ 
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Instructions : (1) Simple calculator is allowed. 

    (2) Figures to right side indicate marks of the questions. 

 

1. Write note : Census of India. 14 

                     OR 

 Describe the defects and uses of vital statistical. 

 

2. (a) Explain Total Fertility Rate (TFR), General Fertility Rate (GFR) and Specific 

Fertility Rate (SFR). 6 

 (b) Find GFR, SFR and TFR for the following data : 8 

Age (in years) No. of Women’s 

(in 1000) 

No. of live 

births 

16 – 20 12 200 

21 – 25 16 1800 

26 – 30 15 2200 

31 – 35 11 1400 

41 – 45 10 900 

46 – 50 5 25 

                                                OR 



NS-119 6 

 (a) Give definition Crude birth rate, Standard death rate and Infant mortality rate. 6 

 (b) For the following data, compare the health status of two cities. (Consider City B 

as Standard City). 8 

Age (in years) 

City – A City – B 

Population Death Population Death 

0 – 10 800 24 600 18 

10 – 30 2000 9 1000 5 

30 – 50 6000 60 3000 24 

More than 50 1200 48 400 20 

 

3. (a) What is trend ? Explain method of moving average for trend. 6 

 (b) From following data obtain trends by using three yearly moving average and 

show it on Graph. 8 

Year Price (in `̀̀̀) 

1991 20 

1992 25 

1993 28 

1994 22 

1995 30 

1996 35 

1997 25 

1998 33 

1999 36 

2000 32 

                            OR 
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 (a) Describe meaning and uses of time series. 6 

 (b) Find Seasonal Index Number for the following data : 8 

Year I II III IV 

2000 70 65 67 72 

2001 75 72 74 78 

2002 80 68 60 60 

2003 85 62 65 68 

 

4. (a) What is Index Number ? Write its uses. 6 

 (b) Find Laspeyr’s, Paasche’s and Fisher Index Number for the following data : 8  

Item 
Base Year Current year 

Price Quantity Price Quantity 

A 8 70 14 60 

B 6 120 20 140 

C 10 100 8 40 

D 12 80 15 35 

E 14 50 14 25 

F 9 40 10 28 

                                       OR 

 (a) Explain fix base method for construction of Index Number. 6 

 (b) Find Index number by using fixed base method for the following data : 8 

Item Price (in `̀̀̀) Item Price (in `̀̀̀) 

A 22 F 30 

B 20 G 28 

C 25 H 33 

D 28 I 35 

E 27 J 40 
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5. Answer the following questions : (any seven) 14 

 (1) What is cost of living index number ? 

 (2) Why the index number is called the barometer of the economy of country ? 

 (3) What is short-time fluctuation ? 

 (4) Give definition of Seasonal Index Number. 

 (5) If 1000 children below one year age in 50,000 children born during the year in a 

city die, find the death rate for the city. 

 (6) State two uses of Birth-death data. 

 (7) Find Fisher Index Number if Σp1q0 = 330, Σp0q0 = 250, Σp1q1 = 350 and                 

Σp0q1 = 330. 

 (8) The general fertility rate for an area is 40. If number of females in child bearing 

age are 80,000, estimate number of live born children during the year. 

 (9) The average of three seasons of an item are respectively 55, 45, 30. Find indices 

of each season. 

_____________ 


